Answer the following questions :

Q 1: Put (T)or (F) beside the sentences and CORRECT the wrong one:

___1. Gymnosperms has naked seed and flowers 

___2. Gametophyte (2n) is the dominant phase in the life cycle of Gymnosperms 

___3. Angiosperms contain sexual reproduction structure

___4. Saprophyte (2n) is dominant phase at the life cycle of Angiosperms and Gametophyte  

___5. The dominant phase at the Green algae is gametophyte 


Q2: what the difference between the Monocot and Dicots plants?







[bookmark: _GoBack]Q3: Draw the spike, umbel and Raceme types of flowers:  
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